February 10, 2023

Special Meeting
12:00 Noon
City Commission Chambers
2775 Garrison Avenue
Port St. Joe, Florida



# City of Port St. Joe

Rex Buzzett, Mayor-Commissioner Eric Langston, Commissioner, Group I David Ashbrook, Commissioner, Group II Brett Lowry, Commissioner, Group III Scott Hoffman, Commissioner, Group IV

[All persons are invited to attend these meetings. Any person who decides to appeal any decision made by the Commission with respect to any matter considered at said meeting will need a record of the proceedings, and for such purpose may need to ensure that a verbatim record of the proceedings is made, which record includes the testimony and evidence upon which the appeal is to be based. The Board of City Commission of the City of Port St. Joe, Florida will not provide a verbatim record of this meeting.]

# **BOARD OF CITY COMMISSION**

12:00 Noon

#### 2775 Garrison Avenue Friday February 10, 2023

### Call to Order

#### Agenda

• Wastewater Treatment Plant Filters

Pages 3-4

Citizens to be Heard Discussion Items by Commissioners Motion to Adjourn



Quote Number: 2023-582083 Account ID: 0001060018

Proposal For: CITY OF PORT ST JOE

**KEVIN PETTIS** 

305 CECIL G COSTIN SR BLVD PORT SAINT JOE, FL 32456-1906

Phone: 850-229-6395 kpettis@psj.fl.gov Randy Sowell

Evoqua Water Technologies

N19W23993 Ridgeview Pkwy, Suite 200

Waukesha, WI 53188 Phone: 229-227-8711 randy.sowell@evoqua.com

**Item Pricing Summary** 

Item	Part No Description	Qty	Net Price	Ext. Price
1	<b>W2T83840</b> NUT;HEX;0.3125 IN DIA;UNC;SS304;18 TPI	50 EA	\$0.25	\$12.50
2	<b>W2T294182</b> SCREW SOCKET CAPTIVE 0.3125 18UNC 1.125L	50 EA	\$3.25	\$162.50
3	W2T289768 GSKT,SEAL;FILTER PANEL;P10.0001	50	\$16.25	\$812.50
4	W2T289770 DISK FILTER GASKET UPPER PER DRAWING 102	50 EA	\$3.65	\$182.50
5	W2T427885 FLTR;PLEATED PANEL;SIZE K;: WD;11 MICRON	1008 EA	\$112.00	\$112,896.00

Currency: USD

Item(s) Subtotal: \$114,066.00

Shipping and Handling Charges: \$1,500.00

Total Net Price: \$115,566.00

Proposal Notes Lead Time 1 Week Stock Inventory

#### Please provide tax exempt certificate with purchase order.

Our Manufacturer Rep in your area is:

Representative: Lance Clark

Company: Heyward Florida Incorporated

List Address: 415 Country Club Drive

Winter Park, FL, 32789



To: Port Saint Joe, FL WWTP

Date: 2/8/2023

To whom it may concern:

This is to confirm that Evoqua Water Technologies is the sole source for Envirex™ Jet-Tech™ and Davco™ systems.

We are the OEM, and retain all drawings and proprietary rights to the 40-X Disc Filter located at Port Saint Joe, FL Facility.

Evoqua Water Technologies Corp. is the Original Equipment Manufacture of the Forty-X<sup>®</sup> Disc Filters purchased by City of Port Saint Joe, FL WWTP and as such we should be considered the sole source for materials to rebuild and repair of this equipment to guarantee factory fit, manufacturing engineering and long-term service life of the equipment.

The Forty-X® Disc Filter Systems have inherent specific design characteristics that must be utilized during any rebuild to assure the owner that the filters will operate at the most efficient mode in any state of design flow and design loading. Manufactured equipment and components and certain purchased materials are specifically designed and manufactured for use only in the Fort-X® Filters, and are specific to Evoqua Water Technologies.

Likewise, only Evoqua fabricated or specified equipment, and parts must be used to maintain any warranty - or guarantee promised effluent capabilities as specified in the original contract.

With kind regards,

## Randy Sowell

Randy Sowell Evoqua Water Technologies 1828 Metcalf Ave Thomasville, GA 31792 Tel:229-227-8711 Lance A. Clark 229-224-7453 (cell) 415 Country Club Drive Winter Park, FL 32789 www.HeywardFL.com

